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58 32(®) | 5% 4(s) | 53 5Y(%) | 58 6U(B) | 53 62(2)
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2107101932 Het=(1.13) SHINEE= A2=F2NH
(5.6.13.16) ME(5.6.10,13) (5.6.13) (5.9.13.17.18)
Z=2F 2 Al AT @ & 2| 8§ ESMH=2LY |S2HI(5.13.15)
ATHE MK (1.2.5.6.10.13) [(1.5.6.10.13) A8(1.5.10.13) |OI2MHES
LENSH2IOr |SHRXRE(13) LOITHE 2 (1.5.6.13)
Ns2 g =20 X1(9.13) (5.13.17) QO DFEHEHRE
(1.5.6.13) DS0Irell=0l |(5.6.13)
INE=PNEES ((5.6.7) B =2 X1(9.13)
(5.13) B =2 X1(9.13)
HU=21F1(Q 12)
SN feRa PN 2 ALK & AHK 2 ALK ALK
m eI, e, eI, 2 ST,
2x2/0502 B, DFOI2: | B, DFO2: | I, 0F2: | i, T2 [HF, 2AF0H2:=3
SUHA/ WA | S/ WA | SWAH/IHA | A/ S LA LH&H/ = LH A
ND(ES)OEE | ZUA/2Z08 | 202U | U/ 0A | WA= | =20/ 206
X DI/ I8 2 SUHA/ LA | SLHAH/ A | WA/ ZLHAE | A/ LA = LHAH/ S LH A
HOII/E2E SUHA/ LA | S/ SUAL | A/ ILHA | A/ S LA SUAH/ LA
Q2| DI/INBE SUHA/ZUA | SLHAH/ AL | WA/ ZLHAE | A/ LA = LHAH/ S LH A
2D/ NEE / / / / /
X/t E / / / / /
TO=S/HESE / / / / /
HS/HBE / / / / /
Ol RetXI/ I8 E / / / / /
WHH/IHZE / / / / /
S/ ote= / / / / /
HE/OIEE S LHAH/2IAIOLA | S LHAH/ 2 AIOHAH [ 2 LHAH/ S ALOFAH 2 LHAH/ 2 ALOFAH | S LHAELI 2] Al OFAF
LDSOH/IIEE SUHA/ LA | SLHAH/ =LA = LH & = LH A =LA
Z2X/I0I82 / / / / /
LEN/IIESE = LH & = LH& = LH & = LHA = L AF
ZAH/OISE / / / / /
BRI/ INESE / / / / /
CHEO/0t=2 3 / / / / /
Ot /It & / / / / /
=R01/JI138 / / / / /
E=2 / / / / /
= = LH & = LH&F = L& = LH&F =LA
Hl 0
427 BH
WHHF 2.5 3.vE 4.9 5. 0F 6.8 7,159 8.4 9.4$% 10.8:X 7] 11. 550} 12. EvlE 13.0}31kRF 14
F 15.5%17] 16.4 127 17.239] 18.Z/MF(F, A5, &3 ¥3) 19.3




